# **Ballajura Community College**



YEAR TWELVE 2025

2025

25 954 12 B

# ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 13th December 2024 Using "QJFJ" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

### PREPACKAGED DELIVERY SERVICE

#### HOME DELIVERY

Your order will be delivered by the 28th January 2025 for \$8.00, if placed on or before the return date of Friday 13th December 2024.

Orders placed after the return date will incur a late fee of up to \$17.50. If ordering later please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to our website @ www.Campion.com.au for all up-to-date information and terms & conditions.



Qty Item Unit **Total** Item Office Use Description Reqd Reqd Price \$ Amount \$ YEAR TWELVE Please note that some items on this Resource List are digital products. If you're buying a reactivation code, you'll need to have a second-hand copy of the required book with an access code inside to access the digital content. Digital texts are

valid for 1 year unless noted otherwise. Please make sure you're certain before ordering, as digital resources cannot be returned, refunded, or exchanged if you change your mind.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the cut-off date, some items may go to backorder and need to be reordered from the supplier.

All the below textbooks for each subject are compulsory school requirements, unless stated as optional.

	All the below textbooks for each subject are compulsory school requirements, unless stated as optional.							
	BUILDING & CONSTRUCTION GENERAL  All Personal Protective Equipment (PPE) listed must be purchased and worn in all practical lessons.							
DE0400	Sturdy enclosed shoes are required and long hair must be tied back when worki	ng in	the workshops.					
P56428	Safety Glasses Clear Wrap Around	1		1	6.45	6.45		
	CAREER & ENTERPRISE GENERAL							
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	2		2	1.65	3.30		
P55442	Display Book A4 20 Pocket Black Refillable	3		2	2.15	4.30		
	CHEMISTRY ATAR							
	Pearson WA Chemistry 12		Choose One					
P00469	Pearson WA Chemistry 12 (SB Print & Digital) - OR -	4		1	98.65	98.65		
E02441	Pearson WA Chemistry 12 (Digital 2Yr Reactivation)	5	DIGITAL ITEM	1	25.95	25.95		
	(Second Hand textbook is required. Please select carefully as NO refunds will incorrect purchase)	be pro	ovided for change o	of mind	or acciden	tal/		
P05724	WA ATAR Essential Chemistry 3&4 (includes 2Yr Access Code) [Nick Lucarelli]	6		1	89.95	89.95		
P30300	WA Chemistry Yr12 ATAR Study Guide (Rev Edn) [Michael Lucarelli, David Proctor]	7		1	59.00	59.00		
	(Optional school requirement)							
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	8		2	1.65	3.30		
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	9		1	41.95	41.95		
D==140	(Or retain from previous year)							
P55442	Display Book A4 20 Pocket Black Refillable	10		1	2.15	2.15		
	ECONOMICS ATAR							
P35446	WA ATAR Investigating Macroeconomics Yr 12 8E [Greg Parry, Steven Kemp]	11		1	90.00	90.00		
	(Due approx. December 2024)							
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	12		2	1.65	3.30		
	ENGLISH ATAR							
P00963	Literary Terms - A Practical Glossary 3E (Chalkface) [Moon]	13		1	42.95	42.95		
P35527	Good Answers ATAR English 2025 (Term 2) [ETAWA]	14		1	31.50	31.50		
	(Optional but highly recommended) (Due Approx. May 2025. If ordered online, this will be delivered in bulk to the scl		or distribution)					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	15		2	1.65	3.30		
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	16		1	3.95	3.95		
	ENGLISH FOUNDATION							
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	17		1	1.65	1.65		
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	18		1	3.95	3.95		
	ENGLISH GENERAL							
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	19		1	1.65	1.65		
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	20		1	3.95	3.95		
	11.11.12	-	_	•				

Page 2 01-11-2024 13:21:51 L0954 YR 12

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	GEOGRAPHY ATAR					
P31940	WA ATAR Geography Units 3&4 3E [K. Bell]	21		1	76.90	76.90
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	22		2	1.65	3.30
P55442	Display Book A4 20 Pocket Black Refillable	23		1	2.15	2.15
P56353	Protractor 10 cm 180 4" Half Circle	24		1	0.45	0.45
P56414	Ruler 300mm Plastic Clear	25		1	0.75	0.75
	HEALTH STUDIES GENERAL					
P55480	Document Wallet FC Polydoc Black	26		1	2.50	2.50
	HUMAN BIOLOGY ATAR					
P13290	Human Perspectives WA ATAR 3&4 (Print & Digital) 8E [Whan et al]	27		1	91.95	91.95
P30301	WA Hum. Biology Yr12 ATAR Study Guide (Rev Edn) [Glenda Leslie]	28		1	59.00	59.00
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	29		2	1.65	3.30
P55442	Display Book A4 20 Pocket Black Refillable	30		1	2.15	2.15
P55492	Document Wallet FC Slimpick Blue	31		1	1.10	1.10
	HUMAN BIOLOGY GENERAL					
P35887	WA Year12 General Human Biology WB 2E [STAWA]	32		1	45.50	45.50
	(Due approx. November 2024)					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	33		2	1.65	3.30
P55442	Display Book A4 20 Pocket Black Refillable	34		1	2.15	2.15
P55492	Document Wallet FC Slimpick Blue	35		2	1.10	2.20
	INTEGRATED SCIENCE GENERAL					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	36		2	1.65	3.30
P55442	Display Book A4 20 Pocket Black Refillable	37		1	2.15	2.15
P55492	Document Wallet FC Slimpick Blue	38		2	1.10	2.20
	LITERATURE ATAR					
P00963	Literary Terms - A Practical Glossary 3E (Chalkface) [Moon]	39		1	42.95	42.95
P35528	Good Answers ATAR Literature 2025 (Term 2) [ETAWA]	40		1	31.50	31.50
	(Optional but highly recommended) (Due Approx. May 2025. If ordered online, this will be delivered in bulk to the					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	41		2	1.65	3.30
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	42	<u> </u>	1	3.95	3.95
	MATERIALS DESIGN & TECHNOLOGY (METAL) GENERAL					
	All Personal Protective Equipment (PPE) listed must be purchased and worn in all practical lessons.  Sturdy enclosed shoes are required and long hair must be tied back when working in the workshops.					
P56428	Safety Glasses Clear Wrap Around	43		1	6.45	6.45
	MATERIALS DESIGN & TECHNOLOGY (WOOD) GENERAL					
	All Personal Protective Equipment (PPE) listed must be purchased and worn Sturdy enclosed shoes are required and long hair must be tied back when wo					
P56428	Safety Glasses Clear Wrap Around	44		1	6.45	6.45
	MATHEMATICS ESSENTIALS GENERAL					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	45		2	1.65	3.30
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	46		1	41.95	41.95
	(Or retain from previous year)	70	_	•	11.00	
P55480	Document Wallet FC Polydoc Black	47		2	2.50	5.00
P55578	Graph Book A4 48 page 10mm Grid Squares Spirax #130	48	<u> </u>	1	1.25	1.25
P56414	Ruler 300mm Plastic Clear	49		1	0.75	0.75
	2		_	•	55	

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	MATHEMATICS APPLICATIONS ATAR					
P33829	Nelson WAmaths Mathematics Applications Yr12 (Print&Digital) [Greg Neal et al]	50		1	93.95	93.95
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	51		2	1.65	3.30
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	52		1	281.95	281.95
	(Or retain from previous year)		_			
P55480	Document Wallet FC Polydoc Black	53		2	2.50	5.00
P56414	Ruler 300mm Plastic Clear	54		1	0.75	0.75
	MATHEMATICS METHODS ATAR					
P33827	Nelson WAmaths Mathematics Methods Yr12 (Print&Digital) [Greg Neal et al]	55		1	93.95	93.95
P19016	WA Math Methods Yr12 ATAR Revision Series (Revised Edn) [O. T. Lee] (Optional school requirement)	56		1	59.00	59.00
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	57		2	1.65	3.30
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	58		1	281.95	281.95
	(Or retain from previous year)					
P55480	Document Wallet FC Polydoc Black	59		2	2.50	5.00
P56414	Ruler 300mm Plastic Clear	60		1	0.75	0.75
	MATHEMATICS SPECIALIST ATAR					
P32052	Cambridge WA Senior Maths Specialist Yr12 (Print&Digital) [Mark White et al]	61		1	86.95	86.95
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	62		2	1.65	3.30
P55272	Calculator Casio Graphic CAS Class Pad FX-CP400	63		1	281.95	281.95
P55480	(Or retain from previous year)	64		2	2.50	5.00
P56414	Document Wallet FC Polydoc Black Ruler 300mm Plastic Clear	64 65		1	0.75	0.75
	MEDIA PRODUCTION & ANALYSIS GENERAL					
P55442	Display Book A4 20 Pocket Black Refillable	66		1	2.15	2.15
P56095	Pen Ballpoint Cap Type Blue Medium	67	$\overline{\Box}$	1	0.35	0.35
P56130	Pen Felt Tip Fineliner Black	68		1	2.85	2.85
P50271	Pencil (HB) Goldfaber	69		1	0.65	0.65
	MODERN HISTORY ATAR					
P04623	Nelson Modern History AC: Russia & the Soviet Union [Ken Webb]	70		1	68.95	68.95
P04610	Nelson Modern History AC: Struggle for Peace Middle East [Bickerton & Taylor]	] 71		1	57.95	57.95
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	72		2	1.65	3.30
	MODERN HISTORY GENERAL					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	73		2	1.65	3.30
	OUTDOOR EDUCATION GENERAL					
P55480	Document Wallet FC Polydoc Black	74		1	2.50	2.50
	PHYSICAL EDUCATION STUDIES GENERAL					
P50272	Document Wallet A4 Polywally Blue Translucent	75		1	3.35	3.35
	PHYSICS ATAR					
P13175	Nelson AC Physics 3&4 (Print & Digital) (Revised Ed) [N Champion et al]	76		1	94.95	94.95
P06275	WA ATAR Exploring Physics Year 12 (Spiral) [STAWA]	77		1	45.50	45.50
P30305	WA Physics Yr12 ATAR Study Guide (Revised Edn) [Michael Lucarelli] (Optional school requirement)	78		1	59.00	59.00
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	79		2	1.65	3.30
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	80		1	41.95	41.95
	(Or retain from previous year)					
P55442	Display Book A4 20 Pocket Black Refillable	81		1	2.15	2.15

01-11-2024 13:21:51 L0954 YR 12 Page 4

		No.	Reqd	Reqd	Unit Price \$	Total Amount \$
	DOLUTION & LAW ATAD					
D40500	POLITICS & LAW ATAR	20	_	4	00.05	00.05
P18523	WACE Politics & Law 3&4 Power/Acc/Rights 2E [PLEAWA]	82	Ľ	1	93.95	93.95
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	83		2	1.65	3.30
	POLITICS AND LAW GENERAL					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	84		2	1.65	3.30
	VISUAL ARTS GENERAL					
	Paper stump 9mm - available from Art teacher.					
P52187	Display Book A3 20 Pocket Foldermate Black (Non-Ref)	85		1	13.70	13.70
P55522	Eraser Plastic Pencil Economy in sleeve	86		1	0.70	0.70
P51353	Glue Stick 40gm Artline Purple	87		1	2.75	2.75
P56081	Marker Artline #200 Black 0.4mm	88		1	3.80	3.80
P56115	Marker Artline #210 Black 0.6mm	89		1	3.80	3.80
P56053	Paint Set Reeves 12 x 10ml Tubes - Water Colour	90		1	21.95	21.95
P52001	Pencil (2B) Goldfaber	91		1	0.65	0.65
P52014	Pencil (6B) Goldfaber	92	$\overline{}$	1	0.65	0.65
P50610	Pencils-Watercolour 24's Faber	93		1	17.95	17.95
	WORKPLACE LEARNING					
P52090	Binder Book A4 64 Page 8mm Premium with Margin Spirax	94		1	1.25	1.25
P56094	Pen Ballpoint Cap Type Black Medium	95		1	0.35	0.35
P56095	Pen Ballpoint Cap Type Blue Medium	96		1	0.35	0.35
	CUA 20220 - CERTIFICATE II CREATIVE INDUSTRIES					
	Headphones/earphones required.					
P50272	Document Wallet A4 Polywally Blue Translucent	97		1	3.35	3.35
	MEM 20422 - CERTIFICATE II ENGINEERING					
	All Personal Protective Equipment (PPE) listed must be purchased and Long sleeve cotton drill shirt and trousers required (e.g. King Gee or King Sturdy enclosed shoes are required and long hair must be tied back with the study enclosed shoes are required and long the study enclosed shoes are required to the study enclosed shoes are required to the study enclosed shoes are required to the study enclosed the study enclosed shoes are required to the study enclosed shoes are required to the study enclosed the study enclosed shoes are required to the study enclosed the study enclosed shoes are required to the study enclosed the study enclosed shoes are required to the study enclosed the study enc	mart).				
P56428	Safety Glasses Clear Wrap Around	_		1	6.45	6.45
	SIT 20322 - CERTIFICATE II HOSPITALITY					
	Closed in shoes and long navy pants required. Purchase white chef's uniform, white apron and white hat — \$60.00 from the teacher OR retain from last year					
P51261	Display Book A4 60 Pocket Black/Blue Non-Refillable	99		1	13.95	13.95
P55097	Lever Arch File A4 75mm Board	100	=	1	5.40	5.40
P56328	Pocket Plastic A4 11 Hole Pkt 10	101		1	1.30	1.30
	ECU UNIPREP SCHOOLS					
	Headphones/earphones required.					
DEE 400	Document Wallet FC Slimpick Blue	102		1	1.10	1.10
P55492	•	103			2.75	2.75

Office Use	Description	ltem No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	GENERAL STATIONERY					
	Students to purchase a diary					
P53066	Tissues 2 Ply White Box 160 - (SUPPLIED TO SCHOOL)	104		2	3.90	7.80
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	105		1	14.05	14.05
	(For use across all subjects)		_			
	Earphones or Headphones	ļ	Choose One			
P50345	Earphones Ear Bud Stereo Ultra Lightweight With Adapter	106		1	14.75	14.75
	-OR-		_			
P55687	Headset Multimedia With Volume Control	107		1	17.95	17.95

Number of Boxes ticked:	
Postage (Home delivery only)	\$8.00
ESTIMATED AMOUNT DUE (PRICES CORRECT AT 01/11/24)	\$

 $<sup>\</sup>square$  Yes, please email me with information on current Year 11 and 12 Study Guides.